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Example 1  Sketch a slope field for the differential equation Ey = 2z — y at the 9 points indicated.

. d
5. Given the differential equation E% = ?.x(y?‘ +1)

(2) Sketch the slope field for this differential equation at the points shown in the figure.
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Matching Slope Fields with Differential Equations

LLook for slopes that:

® = zero

@ are along the x-axis (this is when y = 0)

® are along the y-axis (this is when x = 0)

@ depend only on an x-value (you see that same slopes vertically — only x changes the slope)

® depend only on a y-value (you see that same slopes horizontally — only y changes the slope)

® are all positive or all negative

Match the slope fields with their differential equations.

(A)

(©)

P e e N Y
FE /N
P 27N
SLEE PPN
YANNSFS S S
\\M‘--—l'--—".-"f".f
P 5§ § F & a—
AN il
SRS AL
RISy
W=t
A A I A

E;Y-=13c+1

dy _

Y

(B)
T — e X P T
\L‘“-—-"F-f"’-"f.v"’,ll.{
Nem—m X S
Mopemiy o . N A P

= A 4 £ ¢ r
Nw— A
Sw— s S
\m—ﬁf!!i

§
D)

T T 1T I 7 rIrTmi
FELLEEEAT
!fffzf'f’f,{/’
NN
R RN
b W W W W A |

17.%*3&:—3}



